[image: image1.emf]

.     Harder Normal Problems    .
Involving probability trees and conditional probabilities

1) Radial and cross-ply tyres. 
Radial Tyre 
μ = 60 000km 

σ = 2 000km 
Cross-ply Tyre 
μ = 55 000 km, 
σ = 3 000 km. 

a) P(Radial tyre lasts a shorter distance than the mean of the cross-ply)

b) One of each tyres selected. Find the probability both last at least 65 000km


3) X has normal distribution μ=9 and σ= 4

    Y has μ=8 and σ=5 

a) Is X or Y more likely to be greater the 10? 

b) Which is more likely to be less than 14?
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4) Concrete blocks mean is 5kg Acceptable if they are between 4.96 and 5.04 kg 1% are overweight and 1% are underweight. Calculate standard deviation
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6) Speed cameras operate 30% of the time. Drivers slow for the camera 80% of the time. Otherwise speed μ = 65 km/ hr σ = 3 P( Speed over 70 km/h)
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10) Battery life μ = 600 days σ = 60 days Batteries lasting less than 500 days returned for replacement. What % of returned batteries last longer than 450 days?
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13) Egg weight is normally distributed. 20% weigh less than 4lg and 40% weigh more than 48g Calculate the mean and standard deviation
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(4) A normal variable has mean = variance 
The probability that X is negative is 0.158655 

Find the mean.



Σ (new) Ex 23.06


 (old) Ex 17.05
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